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1 07 | RH B 48 43 91 25.0 66.0 | EAHDY
2 A | WAH F 49 47 96 30.0 66.0 |EAY
3 AL | —BR 45 41 86 19.0 67.0 |HAY
4 AL | W ER 55 47 102 35.0 67.0 | EAY
5 {7 | R S5 38 41 79 10.0 69.0 |EAHY
6 {7 | Z5E AT 41 38 79 10.0 69.0 |HAY
7L | W AT 45 43 88 19.0 69.0 | EHV
8 I\ | &t 1IE 45 44 89 20.0 69.0 |EAHV
9 . | 7TH R 44 36 80 9.0 71.0 | EAY
10 A7 | Tm & 46 44 90 19. 0 71.0 |HADY
11 {7 | Wil &6 52 46 98 27.0 71.0
12 7 | NH F1 54 51 105 34.0 71.0
13 {7 | K B 41 39 80 8.0 72.0
14 {7 | kB0 $R1E 52 52 104 32.0 72.0
15 07 | e B 40 43 83 10.0 73.0
16 {7 | /R B 45 39 84 11.0 73.0
17 A7 | TN S 46 41 87 14.0 73.0
18 fif | =F Sik 44 46 90 16.0 74.0
19 {7 [ $TH #EF 47 45 92 18.0 74. 0
20 A7 | 5L 50 42 92 18.0 74.0 | BEAHY
21 7 |52 1B 45 49 94 20.0 74. 0
22 fif |48k T 48 48 96 22.0 74. 0
23 I | IB BB T 50 48 98 24. 0 74.0
24 A7 | MR B 49 50 99 25.0 74.0
25 {7 | EH fl 53 52 105 31.0 74.0
26 L | /MG s 49 46 95 20. 0 75.0
27 N | ik PRAR 51 46 97 22.0 75.0
28 fir | SOt R 51 46 97 22.0 75. 0
29 iz | TH #5 52 45 97 21.0 76.0
30 fif | &)1l BLE 39 39 78 1.0 77.0 | BAHY
31 A7 [N B 39 45 84 7.0 77.0
32 N | BTy A 49 46 95 18.0 77.0
33 AL | PHH A 50 50 100 23.0 77.0
34 A7 | mlE #5L4 52 49 101 24.0 77.0
35 L | RfH AT 55 58 113 36. 0 77.0
36 fir | Em BRE 41 42 83 5.0 78.0
37 o | 1B 43 45 88 10. 0 78.0
38 fir | WfH ==k 50 51 101 23.0 78. 0
39 A7 | TH B 55 46 101 23.0 78. 0
40 A7 | FLAK 52— 52 50 102 24.0 78.0 | EBAY
41 A7 | IR Tt 47 58 105 27.0 78.0
42 {7 | R % 40 48 88 9.0 79.0
43 A7 | JEH R 46 50 96 17.0 79. 0
44 fr | B F BB 45 49 94 14.0 80. 0
45 L | KiE —k 45 46 91 10.0 81.0
46 {7 | fBAR IE 48 47 95 14.0 81.0
47 fif | ZH F5il 47 49 96 15. 0 81.0
48 N7 | FEAS Frifk 64 53 117 36. 0 81.0
49 7 [l EE T 53 56 109 27.0 82.0
50 f7 | =% HEfE 66 52 118 34. 0 84.0 |HAHY
51 7 |0 &R 60 52 112 26.0 86.0
52 i | FE R 53 56 109 22.0 87.0 |'HAY
53 fL | = J\HB 58 54 112 19.0 93.0




